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Up 3, 4th & 1, 14 yards from opponent end zone
Qtr 2, 03:58 | Timeouts: Off 0, Def 3

4th down decision bot

Win % if
Win % Success %! Fail Succeed ---> CIN (3) @ KC (6) <---
—— — ok ei 76 KC has 4th &1at the CIN 14
Field goal attempt 68 94 62 69 Recommendation (STRONG): & Go for it (+3.8 WP)
1 Likelihood of converting on 4th down or of making field goal Actual play: @ (Shotgun) PMahomes pass short right to T.Kelce for 14
Source: @ben_bot_baldwin yards, TOUCHDOWN. H.Butker extra point is GOO
(a) (b)

Figure 6: Baldwin’s decision making for example play 1.
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Up 1, 4th & 5, 71 yards from opponent endzone
Qtr 3, 5:53 | Timeouts: Off 3, Def 3 | Point Spread: 3

decision WP \ success prob WP if fail WP if succeed baseline coach %
Punt 0.440 || 0.934
Go for it 0.426 0.345 0.557 0.066
Field goal 0.345 0.000 0.345 0.548 0.000

win probability added by
making that decision
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